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General Marking Guidance

¢ All candidates must receive the same treatment. Examiners must
mark the first candidate in exactly the same way as they mark the
last.

e Mark schemes should be applied positively. Candidates must be
rewarded for what they have shown they can do rather than
penalised for omissions.

e Examiners should mark according to the mark scheme not
according to their perception of where the grade boundaries may
lie.

e Thereisno ceiling on achievement. All marks on the mark scheme
should be used appropriately.

e All the marks on the mark scheme are designed to be awarded.
Examiners should always award full marks if deserved, i.e. if the
answer matches the mark scheme. Examiners should also be
prepared to award zero marks if the candidate’s response is not
worthy of credit according to the mark scheme.

e Where some judgement is required, mark schemes will provide
the principles by which marks will be awarded and exemplification
may be limited.

e When examiners are in doubt regarding the application of the
mark scheme to a candidate’s response, the team leader must be
consulted.

e Crossed out work should be marked UNLESS the candidate has
replaced it with an alternative response.
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For open response questions, the candidate does not have to write in full sentences. If
appropriate, they may respond using single words or phrases where appropriate.

Example of short phrases with two or more words:

When responding to open response questions, candidates may use words from the
listening passage or reading extract but they must not transcribe or copy whole
sections where the question requires them to manipulate the language in order to
give an accurate response to the question.

Example:

Candidates who copy the whole sentence, as exemplified above as the Non-rewardable
answer, would not be awarded marks without manipulating the verb in the sentence.
This is because it does not render an accurate answer to the question. However, as the
exemplified Rewardable answer shows, candidates may still use words from the listening
passage or reading extract.

There are no marks for quality of language in Section A or questions 5a) and 5b) in
Section B. Therefore errors and omissions in spelling and grammar will be tolerated as
long as the message is not ambiguous or does not interfere with communication.

Consider only as many elements as there are marks, for example for a 1-mark answer,
the candidate’s first response is taken for assessment, even if this response is incorrect
but the correct information follows as a further element. Where 2 marks are available,
award the individual marks discretely but apply the order of elements rule.

Written responses in the wrong language cannot be awarded a mark.



Guidance to examiners on understanding and applying the mark scheme

Alternative ways of giving the same answer are indicated with a slash (/) in between the
alternative responses, for example: gcllHlotell Al UR AR/ Bcfoll Wl UR R

¢ Where appropriate, responses have been separated with *AND’ for compulsory answers
and ‘OR’ for possible answers, for example:

o AUA S B. (1)

AND

o AUA Yool UAR scll HId B/ scll 1A B. (1)

Use OR to show the various answers where there are more possibilities than available
marks:

Any one of:

o  woeldl uea. (1)

OR

o Hlet Quil gt sdvel. (1)

e Any parts of an answer that are not essential are bracketed for example: [Uctetail [Q5(2
(¥ oAHL).

e Candidates are likely to write variants on the acceptable answers listed and these should
be considered as acceptable if they convey the correct answer.

e All possible answers have the correct amount of marks appropriate for the information
required indicated in brackets.

e Suggested incorrect answers are indicated in the *Reject’ column.



SECTION A mark scheme (listening comprehension)

Question Answer Mark
number

1(i) C (1)
Question | Answer Mark
number

1(ii) B (1)
Question Answer Mark
number

1(iii) A (1)
Question Answer Mark
number

1(iv) A (1)
Question Answer Mark
number

2(i) D (1)
Question Answer Mark
number

2(ii) B (1)
Question Answer Mark
number

2(iii) A (1)
Question Answer Mark
number

2(iv) C (1)
Question Answer Mark
number

2(v) B (1)




Question | Answer Reject Mark
number
3(a)(i) Aull WA $2 B/UM ol B ol2AFo5-olc 305/ A olal 1)
A Aatdl 87 Bt
Question | Answer Reject Mark
number
3(a)(ii) £:u{l dclle]/Urdlalal alaal Hidl B (2)
AND
Slefoll Wajaicle] Yollaldot /S5l alocll
U &
Question | Answer Reject Mark
number
3(a)(iii) S5 A Ha 8 5 yuallc clsl yau/yull Aol 5 & (2)
8/ Axlle] GELERWQL MU 8B/ Aol BELERQ
NEERCIUER:)
AND
SARS Al ULl 52 .
OR
olal ystell (dla 8ot RAAAU ¥ ctoet)
CRLCRAUHL Yo B.
Question | Answer Reject Mark
number
3(a)(iv) | SRAEL olollcll B/slATUR Ul Al B. (1)
Question Answer Reject Mark
number
3(b)(i) (A YHIA ccdot/els3 uYys A o (3)

adcl 23 /818ell BH et dlA
QBL/RQURL ot 20/ Wcloll UR A [QuR
gl %33l

AND
AUHURs wrcllslRaAl SR 2B B.

AND
A R Qaud A& Bl (s

B/o160ltel Ulls (Bau B/ ual As et




B 3H 3 AHl edlcllola el AN B/ ol
@3¢ B.

Question | Answer Reject Mark
number
3(b)(ii) (Qadd 8lg/cost(A vl gldal eudl B (3)

AND
Yohet AMAML 5l¢(As/520loll AR/

AND
VoA AN UL /06LUl M2 oULA /810




Question Answer Reject Mark
number
4(a) AAMAL/YReUl HA B /U8l-UAHA 8l totcllol/ tlols (2)
ak B
AND
sidoll ay AR sl
Question | Answer Reject Mark
number
4(b) Aull WdUlcttofl oot /e Wiedl %l 6l (2)
AND
AAH Al a2/ AYR(A A Aojeta /51
ol 5 Usy/ slH ©lsq usy
OR
s Al 28/ Aslell
Question Answer Reject Mark
number
4(c) dAlgloll gl ugl dd YAl odl. (1)
Question | Answer Reject Mark
number
4 (d) Any two out of four answers (2)
scltMlotoll Nl uR wR/pdell Ul w2
WUR /o slat
OR
wRlell we9d
OR
Hlel AUl gl UneL /4 dddR
OR
Yclldatall [Asid
Question | Answer Reject Mark

number




4(e)

Any two out of four answers

Actolal catdl (A

OR

adndr

OR
Isofl YlQuidl

OR

alall GEola UslA

(2)




SECTION Bmark scheme (listening, reading and writing)

Question | Answer Reject Mark
number
5(a) Any four of the following: Specific factual details (4)
(1), (ii), that do not express what
(iii), (iv) | Manushi’s views are: she thinks about youth
participation in politics
GReclRell ollAA /st /Y& e.g.
vl (1) AAUAN oLl
ARG [Aslet

gcllol A Jallclal/all Yslal UMD

(1)

Yalloll HdElot UM [QURA 52

(1)

USAL $Rcll dAlclaRBl HEAR] B (1)

Wil Ydlol Gleclld clldal

dAUR/4&H B (1)

Weltell cdlott YAl %32 (1)

(Any other appropriate phrasing of the

above points is acceptable)
Question | Answer Reject Mark
number
5(b) Specific factual details (4)
(i), (ii), Any four of the following: that do not express what
(iii), (iv) he thinks about young

Suhas’s views are:

yA@eat H a2 neoll «tell (1)

AR ot} stH sl el ual
Uajetcl Al s/ Weald 1R o
Ul A3 $2AA (1)

people and politics e.g.
MEALA HIE AAS Aal

ajecl ay %33l

AHrHl URadet Alaal

HI2 RASRAIHL % Alad
%331 atell.




g5cl alcll % ot8l ugl uetell gsslallell/ | wtll sulq, otd, Ao

UeAlell (st (1) ylQR @<t

yetell @sta satedl st A(Adudl HdElol UBAl GREURAA
U @ B (1) sl stalloll e 33l

silQate, aHesate ¥ wlbls g5l U aiflal (el

Hiod AR Al 6l uHARA e | ot adl
38| sclle(l/ o Gyctlaltoll sl (1)

GReAR ¢csiaell dwrt 331 (1)

Accept any alternative wording that
expresses this idea.

Section B, question 5C - Listening, reading and writing task

There are three levels-based mark grids applied to question 5C. The mark grids are:

understand and respond to spoken language (AO1)
understand and respond to written language, (AO2)
accuracy and range of language (AO3)

General guidance on using levels-based mark schemes

Step 1: Decide on a marking band

First of all, you must consider the answer as a whole and then decide which descriptors
most closely match the answer and place it in that band. The descriptors for each band
indicate the different features that will be seen in the student’s answer for that band.
When assigning a level, you must look at the overall quality of the answer and not focus
disproportionately on small and specific parts of the answer where the student has not
performed quite as well as the rest. If the answer covers different aspects of different
bands of the mark scheme, you should use a ‘best fit" approach for defining the level.
You will then use the variability of the response to help decide the mark within the level,
for example if the response is predominantly band 3-4 with a small amount of band 5-6
material, it would be placed in band 3-4 but be awarded a mark feagalithe top of the
band because of the band 5-6 content.

Step 2: Decide on a mark

Once you have decided on a band you will need to decide on a mark within the band.

You must decide on the mark to award based on the quality of the answer; you must

award a mark towards the top or bottom of that band, depending on how the student
has evidenced each of the descriptor bullet points.

You must modify the mark based on how securely the trait descriptors are met at that
band.




e You will need to go back through the answer as you apply the mark scheme to clarify
points and assure yourself that the band and the mark are appropriate.



Mark grids

Understand and respond to spoken language (AO1 — 6 marks)
e This mark grid assesses the student’s understanding of spoken language and how well
they use information from it to evaluate and draw conclusions.

Understand and respond to written language (AO2 - 6 marks)
e This mark grid assesses the student’s understanding of written language and how well
they use information from it to evaluate and draw conclusions.

The two mark grids for AO1 and AO2 are presented side-by-side. This is because of the
interconnection of the task in that students need to compare information that they hear to the
information that they read. They need to do this in order to weigh up the views in both sources to be
able to write their evaluation and come to cohesive conclusions.

Indicative content

e When deciding how to reward the answer you should consult these mark grids as well as
the indicative content associated with the question (see below). Indicative content
contains points that students are likely to use to construct their answer. It is possible for
an answer to be constructed without mentioning some or all of these points, as long as
students provide alternative responses that fulfil the requirements of the question.

Understand and respond to spoken Understand and respond to written

language (AO1) language (AO2)

Marks | Description Marks | Description

0 No rewardable material

1-2 e Occasionally relevant 1-2 e Occasionally relevant
judgement expressed on the judgement expressed on the
viewpoints in the spoken viewpoints in the written
source; often strays into source; often strays into
description of content without description of content without
evaluation. evaluation.

e Limited conclusions drawn on e Limited conclusions drawn on
spoken source, sometimes written source, sometimes
inconsistent with evaluation of inconsistent with evaluation of
viewpoints. viewpoints.

3-4 e Expresses some relevant 3-4 e Expresses some relevant
judgements on the viewpoints judgements on the viewpoints
in the spoken source, some of in the written source, some of
which are substantiated; which are substantiated;
occasionally strays into occasionally strays into
description of content without description of content without
evaluation. evaluation.

e Draws straightforward e Draws straightforward
conclusions on spoken source, conclusions on written source,
occasionally inconsistency with occasionally inconsistency with
evaluation of viewpoints. evaluation of viewpoints.

5-6 e Expresses relevant and 5-6 e Expresses relevant and
substantiated judgements on substantiated judgements on
the viewpoints in the spoken the viewpoints in the written
source showing clear source showing clear
evaluation. evaluation.

e Draws convincing conclusions e Draws convincing conclusions
on spoken source, consistent on written source, consistent




| with evaluation of viewpoints. | | with evaluation of viewpoints. |
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